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A polynomial expression is shown below.
(ax2 – 5)(3x4 + 2x2 + 6) – (21x6 + 12x3)
The expression is simplified to: -x4 + 12x3 + 32x2 – 30
What is the value of a?


A polynomial expression is shown below.
(-9x6 + 6x2) + (mx3 + 4) (3x6 + 5x3 + 1)
The expression is simplified to: -27x6 + 23x3 + 6x2 + 4
What is the value of m?
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A polynomial expression is shown below.
(125 - 36x°) - (8 - T)(2 - 6x + 3)

The expression is simplified to -18x® + 14x2 - 42x + 21

What is the value of s?
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A polynomial expression is shown below.
(4z% 4+ 322 - 1) + (mz3 + )(3s2 + 1)

The expression is simplified to 15x + 4x* + 5x* + 92 + 1

What is the value of m?
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A polynomial expression is shown below.
(1266 + 6 +X) - (x + 26)(2n¢2 + 1)

The expression is simplified to 12x° - 14x® - 520x2 - 26.

What is the value of n?
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A. 65

B. -10

C. 65

D. 10
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A polynomial expression is shown below.
(6x¢-3%) + (2~ 5)(qx% + 5)

The expression is simplified to 32x¢ - 25

What s the value of q?
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